WEDHEE GEH i

1G6-7ZJ1 (C)
M 172 42 R FIHREEERES FTHERRI) A
(2 )
PR A RE R H H 2012.12.30
MENEEE (EAKMERE. WMEHE. ISR,
TERBFAT T AR A% 300 BB AR AE, AL B R B 5
W E R B, AR EEEE AR
y=x v )=
x —IBIBREAR M B x_,
RSN E R R AR LR ox
THEEYBTIE.
REEH | A. B
FE | THisEE S | BEETK FRHEAH S B E u e
[ k2
BRI
BERKE #15 NE) 1.732 1 B
+3%RH
VP LA

AR AR R I B % B e

AR AT
u(y) = +/(1.732x 1y =1.732 %R H

¥ IRAHEE U

U=u(y)x2=1732%2=35 %R H




MEATE

(%) Wi
1G6-ZJ1 (C)
TIREEHCRA S BiERT] A—¥
M R A R ()
A e B H 3 2012.12.30

MR MR (EHAIEEE. WEHE, FEEM%).
EHBFN TR AR ERE G, R R A &2

WERH AT, T AR AR
2 de.a 3
y=x u(y):(&)u x)
x I A B *_,
SRR SR RS (B R o
THEE R,
RGEY | A B%
B8 | AMEERE | Of | BEETK | SESEEEE -,
c T
R #% V3 0.577 1 B
BRAEEIC
W .

R AR AL RS I B R

B R 2 R us

u(y) = (0577x1)* =0.577 °C

Y RAHER U

U=u(y)x2=057%2=12 C




